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‘The function g is given in three equivalent forms.

‘Which form most quickly reveals the zeros (or "roots") of the function?

Choose 1 answer:

—2(z+4)2+18

® 9@

g(e) = —227 — 162 — 14

© @) =-2c+1)(@+7)

Write one of the zeros.
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1/4  The zeros or "roots") of the graph y = g() are the z-values of the points where the graph
crosses the z-axis. Since all points on the z-axis have a y-value of 0, we can find the zeros by
solving the equation g(z) = 0.
‘The quadratic function g(z) s given in three different forms:

g(z)= 22> 16z 14  Standard Form
g(z)= 2z +1)(z+7)  Factored Form

gz) = -2(x+4)*+18  Vertex Form
Which form most easily allows us to solve the equation g(x) = 07

2/4  The factored form of the function most easily allows us to solve the equation g() = 0:
2z + 1@ +7)=0

7N

We can conclude that the zeros, or ‘roots", of the graph are z = — 1 and = =
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3/4  Thegraphof y = g() is shown below:

In general, for any quadratic function written in factored form £(z) = a(z — p)(z — q).we
can immediaely conclude that the ros are © = P and T = 4.

474 | Inconclusion:

+ The factored form g(x) = ~2(x + 1)(z + 7) most easily reveals the zeros of the.
sraphy = (). Wha about te athe forms?]

+ Thezerosofg(z) arez = ~Landz = 7.
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‘The function g is given in three equivalent forms.

‘Which form most quickly reveals the y-intercept?

Choose 1 answer:

® g@)=3+3)(=-1)

. g(z) =3(z+1)2-12

© g(@)=3*+60-9

What is the y-intercept?

yeintercept = (0, )
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1/3  The yrintercept of the graph y = g() is the y-value of the point at which this graph crosses
the y-axis. Since all points on the y-axis have an Z-value of 0, we can find the y-intercept by
calculating g(0).

The quadratic function g(z|

given in three different forms:

g(z) =32"+62—9  Standard Form

g(e) =3(z+3)(w—1)  Factored Form

g(z) =3(x+1)*~12  Vertex Form

Which form most easily allows us to calculate g(0) 2




image9.png
2/3  The standard form of the function most casly allows us o calculate g(0):
(0) =3(07 +6(0) ~9=-9
‘We can conclude that the y-itercept i (0, ~9).as shown below:
v

».
.
15-

.

765 4 234561

(0,-9)

y — intercept

y=g(z)

I genera, for any quadratic function witen i standard form
immediately conclude that the ginterceptis (0, ).

122+ bz + . we can

3/3 | Inconcusion:
+ The standard form g() = 3z + 6z — 9 mst easily reveals the y-itercept of the
raphy = (z). (Whatabout the otherforms?]

+ The yintercept of g(z) is (0, ~9).
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The function £ is given in three equivalent forms.

‘Which form most quickly reveals the y-intercept?

Choose 1 answer:

® fla)=-3+1)(z-5)
flo)=-3(x—2)?+27
© fla)=-32+122+15

What is the y-intercept?

yeintercept = (0, )
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1/3

‘The y-intercept of the graphy = f(z) is the y-value of the point at which this graph crosses
the y-axis. Since all points on the y-axis have an z-value of 0, we can find the y-intercept by
calculating £(0).

‘The quadratic function f () is given in three different forms:

f(z)=-32"+122+15  Standard Form

f(z)= 3z +1)(z 5 Factored Form

flz)=-3(x~2)?+27  Vertex Form

Which form most easily allows us to calculate £ (0) 2
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2/3  The standard form of the function most casly allows us o calculate £(0):
f0) =
‘We can conclude that the ynterceptis (0, 15). 25 shown below:

3(0)2 +12(0) +15=15

y

suss

E i y=1@

15§ (0.15)

123336750

I general, for any quadratic function writen i standard form f(z) = a2 + bz + ¢, we can.
immediately conclude that the ginterceptis (0, ).

3/3 | nconcusion:
+ The standard form f(z) = —3° + 122 < 15 mest casy reveals the - inerceptof
thegraphy = (z). What abou the othe oms?|

+ The yintercept of f(z)is (0, 15).




